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Part | Dialogue Communication (15 minutes, 15 points)

Section A Dialogue Completion

Directions: In this section, you will read 5 short incomplete dialogues between two speak-
ers, each followed by four choices marked A, B, Cand D. Choose the answer that best suits the
situation to complete the dialogue. Mark your answer on the ANSWER SHEET with a single line
through the center.

1. Speaker A: Would you please close the window? I feel a bit cold.
Speaker By
A. All right. I hope someone will close it.
B. Oh, I'm sorry, but maybe you should put on your sweater. We need some fresh air.
C. Who has opened the window? I feel cold too.
D. If you feel cold, you can put on more clothes.
2. Speaker A: Excuse me, can you tell me where the Prince’s Building is?
Speaker B:
A. The Prince’s Building? Why do you want to go there?
B. Sure, if you like, I can show you how to get there.
C. Well, turn to the left at the first corner after the crossroads. It’s there near the corner.
D. Strange! What’s going on there? Three people have asked me how to get there.
3. Speaker A: Can I help you?
Speaker B
A. Sorry, I don’t need your help.
B. What help can you give us?
C. Thanks. It’s very kind of you to offer us help.
D. I'd like to try on these shoes, please.
4. Speaker A: I can’t stand the school cafeteria. The food is terrible.
Speaker B:
A. T agree with you. It’s quite difficult to find a seat in the cafeteria.
B. Yeah, you will feel more comfortable if you sit down.
C. Yeah, but that’s not the worst thing about it. It’s also very dirty.
D. I don’t see why they don’t supply some seats for us.
5. Speaker A: Fairly mild for the time of year.
Speaker B:




A. Which season is it now?

B. Yes, usually it is very mild at this time of the year.
C. Have you ever had this kind of weather before?

D. Yes. Quite different from the forecast.

Section B Dialogue Comprehension

Directions: In this section, you will read 5 short conversations between a man and a
woman. At the end of each conversation there is a question followed by four choices marked A,
B, Cand D. Choose the best answer to the question from the four choices given and mark your
answer on the ANSWER SHEET with a single line through the center.

6. Man: Betty is always complaining about her son.
Woman: She should take care of my three teenage boys and see what it’s like.
Question: What does the woman mean?
A. Betty’s life is easy compared with her own.
B. Betty has a more difficult life than she does.
C. Betty would like to take care of the three boys.
D. Taking care of her three teenage sons is easy.
7. Woman: I paid 50 dollars for these books at the Eaglewood Bookstore. They're really too ex-
pensive.
Man: Too expensive? They cost a lot more in other bookstores.
Question;: What does the man mean?
A. He thought they were expensive.
B. He didn’t think they were expensive.
C. He wanted the woman to buy books in other bookstores.
D. He thought books in other stores were just as expensive.
8. Woman: Did you think it was a good play?
Man: What I didn’t understand was the very beginning.
Question: What does the man mean?
A. He didn’t know how to begin to write a play.
B. He didn't like plays very much in the past.
C. He didn’t want to talk about it right away.
D. He wasn't sure what the first part was about.
9. Man: I'm frustrated. We're supposed to do our assignment on the computer, but I have diffi-
culty getting access to the computers in the library.
Woman: I understand the way you feel. I'm looking forward to the day when I can afford to
get my OWn.
Question; What does the woman mean?
A. She can’t finish her assignment, either.

B. She can't afford a computer right now.




10.

C. The man can use her computer.

D. The man should buy a computer right away.

Man: I'm sorry I missed the football game, but I had a terrible cold.
Woman: You didn’t miss anything. We couldn’t have played worse.
Question: What does the woman mean?

A. She’s never watched a better game.

B. Football is her favorite pastime.

C. The game has been canceled.

D. Their team played very badly.

Part [ Vocabulary and Structure (20 minutes, 10 points)

Directions: There are 20 incomplete sentences in this section. For each sentence there are 4

choices marked A, B, C and D. Choose the one that best completes the sentence. Mark your an-
swer on the ANSWER SHEET with a single line through the center.

11.

13.

14.

16.

17.

18.

Colin married my sister and 1 married his brother, makes Colin and me double in-
laws.
A. what B. which C. that D. it

. It has been estimated that the earth’s surface temperature has increased one quarter to

three quarters of a degree since 1805.

A. to B. by C. at D. with

One of the requirements for a fire is that the material  to its burning temperature.
A. is heated B. will be heated

C. be heated D. would be heated

your opinions are worth considering, the committee finds it unwise to place too much
importance on them.
A. As B. Since C. Provided D. While
the claim about German economic might, it is somewhat surprising how relatively
small the German economy actually is.
A. To give B. Given C. Giving D. Having given
Some people view the findings with caution, noting that a cause-and-effect relationship be-
tween passive smoking and cancer remains
A. to be shown B. to have shown
C. to have been shown D. being shown
Whenever I have an appointment, [ like to arrive
A. ahead of time a little B. a little time ahead
C. a little ahead of time D. ahead of a little time
The world’s greatest sporting event, the Olympic Games, upholds the amateur ideal that

matters is not winning but participating.




19.

20.

21.

22.

23

24.

25

26.

27.

28.

A. anything B. it

C. what D. everything

Why this otherwise excellent newspaper allows such an article to be printedis _ me.
A. above B. outside

C. beside D. beyond

_______today, he would get there by Friday.

A. Would he leave B. Was he leaving

C. Were he to leave D. If he leaves

All the credit card organizations charge interest on a monthly basis which may ~ as 25

per cent a year, yet judicious purchasing using a card can mean that you obtain up to seven

weeks interest-free credit.

A. come up B. account for
C. add up D. work out
He was a young man of barely eighteen years, evidently country , and now, as it

seemed, on his first visit to town.

A. brought up B. bred
C. grown up D. raised
Every year in the U. S., colleges and graduate schools continue to highly trained

people to compete for jobs that are not there. As a result, graduates cannot enter the profes-

sions for which they were trained.

A. turn out B. work out

C. make out D. bring out

City planners must never forget that public acceptance of their ideas requires time. So when
their ideas are , they must continue to work,

A. refused B. rejected

C. denied D. objected

Sewing one’s own clothes is a way of saving money and allows one to choose a favorite style
and ;

A. fabric B. linen

C. cheque D. silk

Before sitting for the entrance examination for post-graduate students, many candidates try
to familiarize themselves with the formula of the exam by doing tests.

A. imitated B. simulated

C. stimulated D. exemplary

The only solution to rubbish problem for a nation which now spends more on wrapping food
than it pays farmers to produce it, is recovering the packaging materials for commer-
cial as well as for conservation reasons.

A. on sale B. on the spot

C. on a large scale D. on all sides

The first men to study the nature of electricity could not imagine that their experiments, car-




ried on because of mere intellectual curiosity, would eventually lead to modern electrical

technology, without which we can scarcely ~ contemporary life.
A. ‘get hold of B. conceive of
C. get the better of D. take advantage of
29. Students learning English find the news a useful _ of language practice. To improve

their listening comprehension, they listen to the news on the radio and watch it on televi-

sion,
A. resource B. origin
C. source D. illustration
30. It is virtually impossible to the number of people in the world who have acquired an

adequate working knowledge of English in addition to their own languages.
A. appraise B. evaluate

C. assess D. estimate

Part [ Reading Comprehension (40 minutes, 40 points)

Directions: There are 4 passages in this part. Each of the passages is followed by 5 ques-
tions or unfinished statements. For each of them there are 4 choices marked A, B, C and D.
Choose the best one and mark your answer on the ANSWER SHEET with a single line through the

center.

Passage One

Who to believe? Nokia or Ericsson? IBM or Sun Microsystems? Microsoft or Siebel? Rarely
have the fortunes of technology companies appeared to differ so widely. Nokia, the world’s lar-
gest maker of mobile phones, this week reported better-than-expected sales for the latest quar-
ter, holding out the prospect that its market share would soon reach new highs. By contrast,
Ericsson, a rival, was full of gloom. Reporting bigger losses than expected, the company said
that sales of its mobile phones were likely to tumble by 20% this year.

Motorola, another maker of mobile phones, is in a similar boat. On October 15*, the com-
pany reported a return to profit in its most recent period after a run of losses, but lowered its
forecasts for the rest of the year and for 2003. Demand in wireless, broadband and semiconduc-
tors continued to slow, said the company. Unimpressed, investors marked down Motorola’s
shares to a ten-year low,

The pattern of haves and have-nots is repeated in software too. While Microsoft was in chip-
per mood this week—revelling in a 26 % increase in sales and a doubling of its profits after tax for
the quarter to the end of September—Siebel Systems and PeopleSoft, two of America’s leading
suppliers of business software, were down in the dumps. While PeopleSoft managed a modest
profit, Siebel reported a loss for the last quarter and said it expected the present quarter to be
equally tough. Despite (or because of) their contrasting fortunes, Microsoft and Siebel

announced a joint marketing deal on October 21 ; Microsoft is to sell Siebel’s customer-manage-




ment software through . NET, its web-services product.

Why are some companies doing better than others? One reason is that, now more than ever,
those that are competitive seem to be punishing those that are not. Nokia has stretched its lead
over Ericsson which, in addition to lower sales of mobile phones, has suffered from the severe
fall in demand for telecoms infrastructure, its biggest business. There was, however, some
good news for Ericsson’s shares on October 18", when the company said that the infrastructure
unit came close to breaking even in the most recent quarter. ‘

Cost-cutting has also helped SAP, Europe’s largest developer of business software, has re-
duced its expenses by 8%. As a result, its margins have improved a lot compared with those of
its competitors. Microsoft has employed different tactics. It has capitalized on customers’ fears
that the cost of upgrading their software, such as the company’s Windows XP operating system,
could climb. Many have rushed to buy now in case prices rise. In tune with the times, Microsoft
is also keen to demonstrate how its products can save its customers money. Understandably, this

is winning its sales.

31. By saying “Motorola is in a similar boat”, the author means .
A. Motorola is another maker of mobile phones
B. Motorola is in a similar situation with that of Ericsson
C. Motorola is faced with similar rivals with those of Ericsson
D. Motorola is a partner of Ericsson
32. The pattern of haves and have-nots in software industry refers to the fact that
A. Microsoft is prospering while Siebel and Peoplesoft are still losing ground
B. Microsoft dominates the market while Siebel and Peoplesoft are cast out of the market
C. Microsoft has software for various purposes while Siebel and Peoplesoft have only busi-
ness software
D. Microsoft strikes a marketing deal with Siebel and refused to cooperate with Peoplesoft
33. One factor that contributes to some companies’ greater profits is their .
A. newer products B. higher share prices
C. lower product prices D. lower costs
34. The phrase “capitalize on” (Line 3, Para. 5) most probably means
A. supply funds to B. give birth to
C. take advantage of D. put up with
35. What is the best title for the passage?
A. Technology Giants in Trouble,
B. World IT Market.
C. A New Gulf in IT Industry.
D. Technology Companies.

Passage Two

There have been several claims to have cloned humans over the past few years. Most have




been bogus. But the announcement made this week by Woo St Hwang, of Seoul National Uni-
versity in South Korea, and his colleagues, is serious. It is the first to achieve the accolade of
publication in a peer-reviewed scientific journal. Dr. Hwang’s work appears in Science.

The terminology of human development has become slippery over the past few years, in the
hands of both “life-begins-at-conception” propagandists who want ) stop this sort of research,
and publicity-seeking scientists who have claimed more than they have really achieved. What Dr.
Hwang and his team have created is not what developmental biologists would normally refer to as
an embryo. But it is a genuine scientific advance. South Korea’s researchers have taken egg cells
from volunteer women, removed the nuclei from those cells (wh h contain only half of the ge-
netic complement required to make a human being, since the other half is provided by the
sperm), and replaced each nucleus with one taken from one of the volunteer’s body cells (which
contains a full genetic complement). Given a suitable chemical kick-start, such renucleated cells
will begin dividing as though they were eggs that had been fertilised in the more traditional man-
ner. Since they have all of the mother’s genes, they count as clones.

Then the team cultured the dividing eggs until they had formed structures called blastocysts,
with a few dozen cells each. This is the significant advance. At this stage the structure, though
still just a featureless ball of cells, has started to differentiate into the body’s three basic cell
types (known as endoderm, mesoderm and ectoderm). The researchers were able to extract cells
from some of their blastocysts, and grow tissues containing all three cell types.

These are so-called stem cells, which can be directed to form a wide variety of the specialised
cells from which organs are built. That, not the creation of new human beings, is the stated rea-
son for this sort of research, since specialised cells made this way might be used to replace the
cells lost in diseases such as Parkinson’s and type-] diabetes. This process is known as therapeu-
tic cloning.

No doubt Dr Hwang’s scientific success will sharpen the debate between those who see thera-
peutic cloning as a potential force for good, and those who see it as a step on the road to a cloned
human being. The former have been queuing up to praise the scientist’s work. It is “a major med-
ical milestone” that could help spur a “revolution”, said Robert Lanza, a cloning expert.

But opponents of therapeutic cloning should not worry too much yet. The road from a blas-
tocyst to a baby is a long and complex one. Nevertheless, the South Korean breakthrough makes
it more urgent than ever that legislation be passed differentiating clearly between therapeutic and

reproductive cloning—permitting the former and prohibiting the latter.

36. What does the word “bogus” (Line 2) most probably mean?
A. Different. B. Fake.
C. Bold. D. Genuine.

37. The South Korean team’s breakthrough in cloning is that
A. they have really created an embryo
B. they have developed women’s body cells into blastocysts
C. they have cultivated blastocysts with fixed features




D. they have been able to grow tissues containing stem cells
38. The team’s claimed objective of its cloning research is to
A. develop fertilized eggs with all mother’s genes
B. form body structures with all three basic cell types
C. obtain specialised cells from which organs are built
D. create new human beings
39. It can be inferred from the passage that the author .
A. doesn’t think it likely to develop a blastocyst to a baby
B. is an opponent of therapeutic cloning
C. thinks it necessary to use law to control cloning

D. is a proponent of productive cloning

40. The author’s tone in discussing South Korea’s cloning advance is of .
A. criticism B. satire
C. suspicion D. appreciation

Passage Three

While fashion is thought of usually in relation to clothing, it is important to realize that it
covers a much wider domain. It is to be found in manners, the arts, literature, and philosophy,
and may even reach into certain areas of science. In fact, it may operate in any field of group life,
apart from the technological and utilitarian area and the area of the sacred. Its operation requires
a class society, for in its essential character it does not occur either in a homogeneous society like
a primitive group, or in a caste society.

Fashion behaves as a movement, and on this basis it is different from custom which, by
comparison, is static. This is due to the fact that fashion is based fundamentally on differentia-
tion and emulation. In a class society, the upper classes or so-called social elite are not able to
differentiate themselves by fixed symbols or badges. Hence the more external features of their life
and behavior are likely to be imitated by classes immediately below them, who, in turn, are imi-
tated by groups immediately below them in the social structure. This process gives to fashion a
vertical descent. However, the elite class finds that it is no longer distinguishable, by reason of
the imitation made by others, and hence is led to adopt new differentiating criteria, only to dis-
place these as they in turn are imitated. It is primarily this feature that makes fashion into a
movement and which has led one writer to remark that a fashion, once launched, moves to its
doom.

As a movement, fashion show little resemblance to any of the other movements which we
have considered. While it occurs spontaneously and moves along in a characteristic cycle, it in-
volves little in the way of crowd behavior and it is not dependent upon the discussion process and
the resulting public opinion. It does not depend upon the mechanisms of which we have spoken.
The participants are not recruited through agitation. No morale is built up among them. Nor does
the fashion movement have, or required, an ideology. Further, since it does not have a leader-

ship imparting conscious direction to the movement, it does not build up a set of tactics. People




